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33600000 lkrlnpurlp h uluurrlurutnurLlntptp 25,818.8

3361r120 Sullnurfr4frh l0 rlq hurF 43,827 73629,36 r 680

33621450 Uri1n4|rqfrh 10 ilq cz h-F 24 720000 30000

33621390 Urffrn4urpnll 200 ilq CZ h*P 64 3 84000 6000

3365r112 Uttnpufrghfttr +\tunlnilrunnuppnr 1 56/2515il1 $r l 090,9s 130914 120

3365 r r r2 UrlnpufrgffrL +\1ur{ntlurhurppnr 22815/5il1 $L 2021,25 242550 t20

3 3 600000 Untl$tughurulffr4 hururflfrmtl 20%l 5 tl1 SL 48s, r 11642,4 1A

33661 1 19 Utururrlfrqnl hururpfrntr.i 50% 12. [1 uFqurq 34,65 2772 80

33600000 Shurfplrqfh l0 dq h*F 74 29600 400

3369t140 Ughurfrpfruuh]rh 100 ilq h-F 76 22800 300

33621720 Ffrunqpnlnl5 ilq CZ h*F a1 3 1 5000 1 5000

33621720 Ffrunqpnlnl 10 ilq cz hruF 29,9145 448717,5 1 5000

33621260 L$t4plrh h/p + qlurmglrtr h/ppmlfr4 125 ri1 cz $L 480 57600 t20

33621360 a$ghp|trh ttnilf\ 2,11q CZ tlnilf\ l3l 78600 600

33691212 'IfrnuttfrL+htuqhplr4f h 5 00 ilq c2 h*F 89,1 45 55091 6,1 6180

3363 1380 ' Snlqhpfrqnh hlr4pnplnplr4 150ttq CZ h-P 101,724 42'124,08 420

33641413 'Itpuu-nlhururqnh 4 ilq/l il1 7t uFquU 7 6,6s 7 665 100

33641413 'Ihpuurfhrnurqnh 0, I %-5il1 c2, SL 686,983s 41219,01 60

33621380 'Ihpuurilhururqnh 0,5dq htup 41 82000 2000

3362 1 380 rllrqnpufrL 0,25 ilq h*F 6,069 24276 4000

3367 1 130 'Ilr$hhhf4puttibL l'%-1,0 CZ uFqtuU )ar\5 1212,75 50

33621450 I-lrqfrhnqpfl20 dq c,z hurp 443520 8000

3363 I 3 i0 -Iir\1n$hhur\hururpfrnul+fr4n\u3frh 2 il1 CZ upr{urt1 *6,68 263340 500

33621700 t-Ihtnnqpngrll00dq cz h-F '1.) ?? s 208882,8 6480

3362\760 hhurlurqplrl l0 ilq h*F 133308 24000

33621760 hhuprqplrl20 ttq 7t h*F 27 s40000 20000

33621520 hhrulurqpfl- 10 tlq +hlr4pnplnpurltutqh+ 25ilq h.'F ?? 55 t62750 5000

"33621520 hhurlurqpfrl20 rlq + frh4uqurilf4 2,5tlq tnnr.$ 2340 1544404 660

33600000 'Ilro\rnurkrlplr\ urfh\r.nfln 3 ilq 4h4ru$n2|t 150 60000 400

33642230 I-hnpfrpnpufrhl00 ilq hurF 15 120000 8000

3367 1114 hn$frfrlr 2,4%-5 {1 CZ uFquU 4t 58 2494,8 60

33 65 1280 Lf$ntpnpuuqf4 200dq rlh4urqururfd 60 86400 1440

33661156 ldfnln1np0,5 %-5 ti1 cz QL 408,24 t46966,4 360



33642240 fdfrurilurqnl 10 rlq cz h-F 85 1 53000 1 800

3361 1117 SrunrQnh 4 %-10 d1 C2 $r \54 4 277200 500

33631290 hpnr-qpn$bb I 00 ilq/5il111 00il1 $L 892 107040 t20

33631290 hpmqpnQhtr 200 dq N 30 cz hutp 5,5 65 t4469 2600

3 352 1 600 I.h4urqurilfr4 1,5 ilq h*F 50,2005 361443,6 7200

3363 1200 Plnpunf$hh[\n1 0,25% -5 il$ $L 460,32 276t9,2 60

3361 12i0 Unr-1$uruurlurqlrli 500 ilq hurF 58,8 84672 1440

33691213 trurptrupprlruJflr purglrfrtpfr quufdhhp 4hrlurqulnfrd 63 327600 s200

33611180 I-ur\urnr-Lnqu 670tiq/rl1; 200il1 -t SL 2035,719 t22143,t4 60

3369 1 1 86 ''Ilfrpurghrnrurl 800 riq CZ h*F s4,978 329868 6000

33691222 'Tlf purghurruri + gl'Lur lhqhL -t qh4urqu-rufd 4r,076 )a\147 ) 7200

33611420 9uiplrnril'I3 500/200 GZ huF 33 396000 12000

33621370 hqnunppfr4 4frh]ruprurn 20 rlq c2 h*F 36 129600 3600

33621370 Fqnunppfr4 4frtrfrurpuu 40 r'fq CZ h*F 59 236000 4000

3361 I 180 Lur\urntlnqru 667rlq/tl6 5 00il1 $r 4177,s09 200s20,432 48

33661121 Ughtnfrluurfirgfrlurpfdnr- + rlurqtrfrnril h/ plnplr4 150 ilq 7' hruF 20,89s 1002960 48000

33661121 Ugturlrluurfrglrlurppnt 1 00 rlq h-F 26,25 84000 3200

33621690 9urpr{h4fr1n1- i 2, 5 riq hruF 28,35 204t20 7200

3365 I 13 1
Untl$rurihrnnpuurqnl- +urpfrtftunqpfni 240 dq /5

[,t/120
7t

QL 692 69200 100

33621750 Llr$halrqftr 10 ilq N100 CZ hntF 14,5845 5 83 3,8 400

33661127 tlhururqfrrln1 hururpfrnr-rl 500 ilq G2 h*F 6,048 3024 JUU

33661121 Ughurfluurfrgflurppnr +qrupurghurrurlnl + \nSh$r h*P 13,44 26880 2000

33600000 .{.urqhfrh 30 q CZ $l l s9,u52 o{0 I 'l? 6

33631230 'Ilnrfr4nli 1n4 10'% l20tI1 c2 SL I 108,8 28828,8 zo

33631200 €lnpuilShhfr\n1 + rihpfrlmpurgfrl c2 qurp\nrd 520 8320 16

33631200 punrp plnpruriShltf\n1 I0%25q CZ qurp\nr.d 490 r1760

33600000 Lirhfril pu1quil]t\u\utr qurp\nrd 314,16 7539,84 1A

33621290 I-nr-bnr-3p tu4phtrurfrh 0. 1 8% 1{1 c2 uFqluq 140 1400 10

33621440 Lnr.bntlp phL4uqnl 1% 1.0 CZ uPquU )1 1'' 3326,4 120

33621440 I-mbntlp phh4ruqnl 1% 5 ti1 CZ uPquq 41.58 83 1,6 20

33600000 pb \lhriuruurfh 5tll uFqur\ 203,616 8144,64 40

33621640 Zlr4pn\rupulrqnh ur2plr punr-p 0'5% 3q cz qrup\md 760 t8240 24

33600000 Uhnr-2ur4pfr uqlrpur 30 il1 CZ Sr
q7 l?55 29t4,065 30

3362t360 Lflnpnqfgbpbh hrup 0.0005 h*F 8,1 69 326,'t6 40

33661122 'Ihupurghr.nurr.Inl 5 00 dq 7, h-F 4,62 6930 I 500

33621320 9urtnr{u}unurfr Lpuurprurn hurp h-F 2,016 7257,6 3600

33621320 L-b 9urmlulunurlr \urp 30 ti1 bL t65.459 8272,95 50

33600000 .{rufr4nlhup 0.06q hu.tp 9,702 485,1 50

33621760 hhurpuqplrl5 ilq h*F 5n4 2520 500

33600000 1-b llfr4nqrnfr\ ur:P.qurfd 2.5% 5rI1 Sr 2'772 44352 l6

3361 I 150 'llurh\phulnfrh 10000 ilil hup 90 90000 1000

3362 1 s80 2|r4pnplnppfruqf 4 2 s ilq h*F +t 1,76 21 168 I 800

33642220 Uhpfrlqph4h[qn1nh 4 ttq CZ hr,tF 68,67 247212 3600

33642210 npt4hlrqnlntr 0,005q c2 h*F 8,4 6048 720

3 3 621310 Spflfhpfphfrapruqfrh,qpnq]rnhruur 500 ilq h-F 100 240000 2400

3361 1341 Unrltnllftnnurd]rh 3 -5u h*F 76,s 229500 3000

33611341 Lf mlurlr{rururtlfrhtrhp o2urpur\ -, SL 3200 384000 t20

33600000 Opufrilbururqnfrh 0,0 1 %- I0 ri1 Qr 1070 535000 s00

33600000 Opufrltururqnftrh 0,025%- 1 0 ti1 $L 935 654500 700

3365t280 Llr$mpnpuurqlr4 220rlq /5ri190rI1 $1ur\nh /o2urpul1 SL 2047.5 245700 t20

33600000 trpntfn\pfrqufrh 2,5 ttq h*F 1 09,095 124368,3 1 140

33600000 'Iln$nprnnlnh 4 riq cz hutF 64,05 230580 3600



33621460 altpfr4nqpf1a ilq h*F ,39,5325 189756 4800

33621460 'tlhplrl4nqpfrl8 dq h*F s6,49 271152 4800

33621460 'tlhpirLr4nqpbl5 ilq nurF 109,2 393120 3600

33621460 'tltplrL4nqpfrl 10ilq cz h-P 136,60s 49r778 3600

33651111 Urfnpufrgb$h 250 dq h*F t7,6 79200 4500

33691232 Lfrdhuntfr4 100 ilq hruF 80 96000 r200

336 l I 100 Oilhqpurqn120 rfq c2 4hqurqururfrd 12,81 t84464 14400

33671r13 Uurpnturullnlgnlugbp 100 dqq/ 200 4nqu cz Sr 1 550 558000 360

33691210 Urnpn$urhurfrh 0,25 rfq-l il1 c2 uFquU 1050 20

33621110 '{up$urpfrh 2,5 rfq h*F l5 150000 10000

33621620 Uqlrpnhngur\r.nnh 50 ilq c2. 4h4urqururld {r ?ot5 111L't',t )\ r3700

33651253 Sruttnpuf$htr 20 ilq 7' h*F 64,97 4 701719,2 r0800

3363 I I 70 Shtnpurgbhlh l%3 q/ urlplr punrp/ CZ qurp\nd 780,1 5 r5603 20

136213r0 Spfnihururqfr4fh 35 ilq Un h*F 41 738000 18000

33691230 Spnpuhnnr-rnlrh 300 tlq qhrlurquufrd )1 \<') 4r3280 15000

3369 230 Spnpuhnnunlrh 2% {ot 40 q cz qup\md 320 96000 300

3366 22 'Tlurpurghurutfnl dnilft\ 1 5 0 ilq rlnilfrll 54 ?5?5 54253,5 1000

3366 122 'Ilurpurghrnulfnl rlmifr\ 3 25 dq ilndf\ 65,8 14 6s814 1000

3366 r22 'tlu:purghurrurlnl iinrflr\ 500 tlq CZ ilnilf\ 105 26250 250

33661122 'Tlurprughrnurtlnl 120 dq/5 ri1/100 il1
4 ?,

SL 415,8 99792 240

3J69t204 ShLfh4fnh 0,03q h*F 14al4 t02942 3000

33621210 bn\utph um1$urur 50 dq/5 d1-100 br I99s 1 19700 60

33621470 Unpunhf4frh 0,4 ilq c2. h-F 248,6 43s050 I 750

33621590 $nr-pruutrffr4 I %-2 rI1 unqu'U )1 1) r386 50

3367112s Urlppppung3 ilq/il1 100 cz $L 680,4 81648 120

3361 1 r70 'IpntnurltplrL 40 ilq N100 cz h-F 8,3 16 83 16 1000

33621163 Lhpfr{u1n1s'ilq h*P 95,r405 30863s,782 3244

3361 I 1 l0
gurfrnu-f uruqu-rnurqfrhutn I 5 Srfq rluqhlrnul

ururuurnurohlruln 140r.[q'
cz h*F 40 60000 1500

3660000 Ufrdhu[\nl-r Sr 1829,1 219492 t20

33621590 Sntpurutdfr4 40 riq hurF 4,4r 52920 12000

3369 1 1 87 .{frhqnghgbh l0 dq h*F 7t,4 1 15668 t620

3369t203 I.nqurpurruh l00 ilq h1uP 60 108000 1800

33611310 'Ifr\1n$hbu\ 100 ilq ilndf\ r06,722 JJJO I 500

3362t540 'tlurqtu{hpfrL hh+n"pL"phn unqurU ?? {{ 976,5 '+ 30

3361 1 1 10 Ugmrflrtrmri+rfurqLfrnul hlr4pnplnpfr4 1 70 ri1- CZ SL 1048,9 1 85 37761,066 JO

33651120 tlpn\ut1frh 2%/2d1 unqur\ a/ a<< 485 I 200

33611360 tun1h\urplr$hnn1 15000 b 10/d1 St 't16,8245 286729,8 400

33651224 llturnuphpuuru 10 rlq hutp 196,s6 58968 300

33600000 9npr{ur1n125 il1 7'
SL t26,4725 6323,625 50

3363 i3 10 'Ifr\lnQhhur\ oQpurlilf\ 0,1% - 10il120 $L 1801,8 64864,8 JO

33611120 $ulfmnfr4|rb 20 ilq h-F 13,65 38220 2800

33621460 'tlhpfrh4nqpfl/unlln4frqfrh l 0/5 h*P .202 545400 2700

33621460 'tt hpfrt-ranqpf /ull1n4|rqf tr 5/ 5 cz h*F 16s,795 298431 I 800

3361 1 I 50 'tlurtr\phurnfh 3500 UU h-F JZ 240000 7500

33621140 ttlnqfr4nqphf5 ilq 4hrluiqururlrd tt2,35 808920 7200

33691199 Uhthrftunhb/hrunuht/ 90 riq cz rlh4uqururfrd /80 288000 3600

-336ooooo 9urpurqhhuilrh 300 tfq 4hrluqulnfrd 99 89100 900

33651223 UU hur\rurlrurlurrugilurh ruhururnpufh l il1 UL uFquU 2r0 21000 100

3365 I 199 2u: \ur\urr.nur4ntp3 urh qurur{uruulrul-{ nLF uFqurq 6300 756000 120

33661 133 9urp4|r4nqur+Lhn4nqur 25ilq/25Oilq h*F 113.4 136080 1200

3367 1113 Uurpnrurrudnl4 rlq hurF s4,2tr5 48790,35 900

33671 I 1 8 Sfqpn$1npuu:gbL 0.3% 10d1 GZ $1ur\nlt 623,7 12474 20



33691 189 trhrnruqfruurlrh 24ilq CZ h*F 73,08 8769,6 120

33621730 rlhpurqrutllrl ({tpurqulilrfr h}r4pnp1npfr4) 80ilq CZ h.uF 28,56 34272 1200

33621390
urilfrn4urpnh (ulffn4upntrfr h!4pnp1nplr4) 50tlq/il6

3rit
CZ uFqurLl 2'72,664 5453,28 20

3367 1130 4f $hbhfrapurtflrtr (air$hhhlrapunf frLir hir4pnplnppQ,

ruttntrlrnullr plnpfr4 1 . 992rf q/rl1+ 1 9.92ilqltl6 1 2 5rf 1
CZ 2211\

oo'l ? 95356,8 96

33600000 r.fhlopufr\urtf 15riq h-p s6,227s 101209,5 1800

3367 1113
uurpmururtlnl (uutgntururfnl]r unrlQurur) 2ilql5il;

125ilr
c2 22lt\ 960 92160 96

336'11129

hfnnpn$nrpur; urhurpu:\ur1]rtr (urhtnpur\ur1]rhft

trfr4pnBUnh+), $hhurqnh 2,srlq/d1+

3 1.25rfo/rir +87.5rlq/ilt :

Slur\nh 785 56520 72

33661 154
nturpur\rulfrh (rnhr.npu\ur1|rhfr hlr4pnplnpf 4)

l0rio/rfi:1Oilt
7' $1tu\nl,t 2494,8 14968,8 6

33611170 4pnuutlhpfrtr (4pmnul{hpfrtrfr hfr4pnppp}i4) 2OdqilL
2{t

q) uFquq r90 7600 40

3361 I 160
qlururjr$lr$h (qlururb$bfhh hfr4pntnuprnptuur)

2r-to,/ilt: 1rl
q, utqruU r40 4200 30

33621330 hfr\hpurilfrrl 25Oilq/il1; 2il1 unqu\ r80 3600 20

33621660
gttilrgk$pfrtr ($utrfrffi pfrhfr hh+n"pL"nt'+) 1 Oilq/ill;

I rfr
uFqurq t20 1200 10

33671129 hlrnpn$mpur1 $n2f 0,02 q $1u\nlt 100 3000 30

3363r4r0 urlnqnr-plrhnl 100ilq qz h*F 40 r4400 360

33600000 30%,50% 4hqnpulP cz r4,392.r *

33621450 Urlln4frqFL 10 ilq h*F 29 652500 22500

33621390 Urifrn4urpntr 200 tlq h*F lt) 479400 5640

33621720 Ffrunqpnlnp 5 tlq h*P 25 282000 I 1280

3362t720 tr|runqpnlnl 10 rlq nurF 52 s86s60 1 1280

336912t2 1|rnurffrh+hhuqhplra$r 5 00 ilq nurF 90.0 226800 2520

3363 1380 inlqhpfrqntr hlr4pnplnplr4 1 50ilq hurF s'7 1 29197,35 300

33641413 lhpuurr.Ihtnurqnh 0, I %-5il1 cz SL 672 20160 30

3362 I 380 )frqnpufrtr 0,25 rlq CZ h-F 6 10800 l 800

33621450 I-frqlrLnqpfl20 ilq h-F )J 287896 5432

33631310 'Ifr\1n$hhur\hulnpfrnui+fr4n\ur1frh 2 d1 CZ unqur\ 540 205200 380

33621700 Jhurnqpnlnll00rlq 7t h-P 35 r133s4,64 3240

33621760 hhulurqplrl 10 ilq 7' h*F 8,4 l5 1200 I 8000

33621760 hhurlurqplry 20 tfq cz h*P 43 3 87000 9000

3362t520 hhurlurqpfrl 1 0 rlq +hlr4pnpgrprnlrurqfr4 1 2,5 T' h*P 50 1 88000 3760

33621520 hhrulurqplrl20 riq + |rh4tuqurilf4 2,5ilq Uln+ 2460 1771200 720

33642230 t-hnpfrpnpufhl00 dq cz h-F 18 8 1553,5 4500

33661156 O[rlnyn10,5 %-5 rI1 c2 $L 405 I 13400 280

33642240 Ofrullurqnl 10 dq F, h-F '76 106400 1400

3367 tttT Sunr$ntr 4 %-10 il1 tz Sr ) )r+ 332400 600

3363t290 t'pnr-qpn$hl,r 200 ttq nruF 8 21600 2700

33631290 htr4urqullfr4 1,5 ilq h*F 50 225000 4500

3363t200 Plnpunf$htrlr\n1 0,25% -5 df1 QL 4s0 20100 46

3361 1210 UnrlSururul.uqfrh 500 ilq h*F 74 58976,4 800

33.691 I 86 nfpughuruni 800 ilq h-F ls9 267198,75 4s00

33691222 'lfrpurghrnuril + ghburpbqhh 4hqurqururlrd 30 I 62000 5400

33611420 \tupfrnr.tt']3 500/200 CZ h*F 47 4252s0 9000

33621370 hqnunppfr4 4frtrlnnpruu 20 rlq h*F 28 7 5694,5 2700

33621370 i'qnunppfr4 4|rhfrurpurur 40 ilq; cz h-F )/ 2s7 559,7 5 4s00

r3361 1 180 I.ru\urnrlnqur 3,35 dq/5 ily'500 tz $r 57 57 10361't,36 l8

33661121 Ughubluurtigtr1ufdfdnt + ilurqhlrnr-rf h/ pppfr4 150 ilq h*F 21 567000 27000

33661121 UghtnfrluurlhgFlurppnt I 00 riq h*F 50 14000 2000

33621690 truprlh4]r1n1 12,5 ilq h*F t14 6 I 5600 5400

33621750 t frShalrqbL 10 dq h-P 16 6417,6 400

33621640 Zir4pn\urpurlrqnh ur2plr riurq 0.5% 3q C2 qurp\ntd ti40 16800 20



33621360 t lrurpnq$ghphtr hurp 0.0005 CZ hurF 8 r60 20

33621320 gruurr{u}unu}r tpurnpunn hurP cz h*F 2 648,9 300

33621320 -b grurnr{u,r}unr.nfr \up 30 tt1 $r 160 6400 40

33621760 hLrulurqpfl5 ilq h-P o 582t,2 900

3361 1 150 Ilurb\phuurlrh 10000 ilti cz h*F 89 53400 600

3362 1580 $4pnppppfrurqlr4 25 dq cz h*F IJ 1'1)<\ 1 t320

33642220 Uhpfrl qpb4ttfrqnlntr 4 dq h-F 70 I 89000 2700

336422r0 Qph4h[rqn1nh 0,005q hurF 9 3413,34 360

33621310 Spfrlhplrlhlrapurqlrh,qpnqlrnhurur 500 rlq h-F 10r r81800 1 800

33600000 Fpnrin\pfrqulrtr 2,5 dq 7t hurF 105 62823,6 600

33600000 Splnurlufrtrnlnb 4 dq h-F 80 430s2,31 540

33621460 thpfrh4nqpirla ilq h-F 78 2'19871,2 3600

33621460 tlhplrh4nqpfl S dq 7' h*F n0 397164,6 3600

3362t460 tlhpfrh4nqpfrl5 ilq CZ h-F lil 299700 2700 j

33621460 Utpfrh4nqpfrl 1Oilq CZ h-F r38 372600 2'700

33600000 trhurruqlruufh 16 ilq c2 htup 134 40200 300

3361 1 100 Critqpuqnl20 ilg cz 4hlurqu.rulrd l6 r69986,6 10800

33671 I l3 Urug:nturullnlgnlughF 100 illlC 200 4nqur QL I 780 242080 136

33621 1 10 .{.urp$urpfh 2,5 dq hurF t0 90000 9000

33621620 Uqirpnhnlu\urntr 5 0 r.iq 4trltuqur.nlrd 56 504000 9000

3362t310 ]pfnlhururqfr4frh S5 ilq UI] -, h*F o/ 6't2186,69 10020

33691230 ipnpuhnmurfrh 300 tlq c2 4tqurqururlrd 30 1 80000 6000

33691230 ipnputnnturlrL 2% {q4O q qurp\md 278 41700 150

33691204 Shhfrh4fnh 0,03q cz h*P 39 297'.t3,38 760

33621470 llnpunhfr4frL 0,4 {q CZ h-F 344 221570,4s4 o11

3f621590 $nrpiuuhr.Ilr4 1 %-2 rI1 uFqur\ 30 483s,04 160

33621763 t tpfl{ui1ny5 dq cz hurp 96 132480 1380

336r I rJ0
rrurfirnul ruuqurmuqfrtrurur 1 5 8rlq ilruqhfrnttf
r.uururunurqhLuln I 40ilq

cz h-F 27 40272,75 1500

33621590 $nrpuruhrff4 40 riq h-F 5 28287 6000

3369118'l .llrtrqnghghL 10 ilq h*F 24 {o??1 1' 2520

33691203 Lnqtupurah l00 dq h*F 87 t194t2,09 1380

33631310 lfr\1n$hhur\ 100 ilq cz ilnilf\ 40 18170,46 460

3361 I I 10 Ulnr-rifrhnul+lfurqh]rnul hfr4pnplnp]r4 1 70 il1 C,2 $L 1 150 29909,88 26

33651224 Llhurntnphpuunn 10 tlq C2 h*F 227 90627]d 400

33600000 Irnp{ur1n125 tI1 SL t22 t2200 100

3163 l3 l0 ]ir\pShtrur\ o$purlflr\ 0,1% - 10d1 SL I 802 32432,4 18

3361 1 120 5urilnr.nfr4|rtr 20 ttq 7' h*F l5 43071 2800

33621460 tltpfrb4nqnlry'urdln4frulfrb 1 0/s h*F 205 282900 1380

33621460 t) hpfrb4nqnfrl/rurllnrlfrqfrh 5/5 75 h*F 167 150300 900

3361 1 rs0 tlurtr\phururlrtr 3500 UU hruF 38 114628,5 3000

33621140 glnqlr4ngphf 5rlq CZ 4h4ruqurufd 130 585000 4500

33691199 UfrftfurplrL/\rupufr/ 3, 5 dq CZ 4hrluqururfrd 73 I 80,8 4800

33600000 lurpuqhhtnfrtr 300 r.Iq CZ 4hrlurqulnlrd 298 268068, I 5 900

33691226 rnpurlur4nl (urpruilru4nfr hlr4pnplnpf 4) 501tq hurp 49 48562,s 1000

33691226 urpurttur4nl (urpu:r.iur4nfr hfr4PnPlnph4) 10ilq/2il1 cz uFriuU 185 369600 2000

33661t36 4frurqhqull 5riq h*F l) '17263,2 5040

33661 141 phLuqtqturi lilq h.P t2 62233,92 5040

33661 13 I f htrnpurpplrunul 1 00dq, cz 'h*F 20 s9496,r92 2976

3 3 600000
nplrhhpuir$hLlr4fr1 (urplrhhpuhSUt h+1'$
hhnnnornnhn) 2riq.

7' $1ur\nh 10 30807 3000

33661 153 ltpuunihpurqnh 0,5riq h*F 4'7 28440 600



33210000
€|rtl. Llntphp h rlfurhrlurq oqrnurqnpbrlurh pntd.

qurpurquLhp
cz

5,141,.5

I

33211250 C nhur\rnlrrl uqlrurru\mg rutrruftq 70 91000
1 300

33211230 f)'[G u]r$f$u rutrurfrq 70 105000 1 500

33691166
knlmrlpfnu urqu,r/ rif2unlur3p qurhurh2\nu

r-[tuhnthhnV
\q 100 150 't 5

33200000 Uqnqfrpuril 7, Sr 2000 8000 4

33200000 ULS huln 40 48000 1200

33200000
Uuqurpururu ulffrtrnurpurhuQhl*qtt npn2tfutr phuin

hullurorubnt
urhufrq 40 48000 1200

33211260 ULtnfr-Uurphqrnnfrqfrh O urhu-r$q 80 28800 JbU

33211140 tr|rfrnnr-pfrh C2 u:hur1, 40 8000 200

332t1120 9gm\nqu: npn2rftuh ptup hul{urpurbnr- urhurl 25 625000 25000

33200000 bnplnppurgurluurppnt 120il1 3 % huln 2000 20000 10

33211160 9phu:uilrhlrh urburl 20 24000 1200

33200000 2hrlnqlnpfh CZ tlr-p 5000 s0000 10

33200000
2]nihurlirL $nu$rurntuqu,rf npn2r-ftuh phup-

huilurPurbnt
CZ urhu-r1 60 60000

1 000

33211110 {Jt4}ru\pfb-2 cz ulnL+ 3 500 42000 12

3321 i 150 Lllrqurtrlntpfr npn2rlurL phup hullurprubnr- urhrul 40 56000 1400

33200000 Zur\tuplrmnfr\ +ltu\hn' urmqrf htnfrtt -, Sr 1 500 3000 2

33200000 Zru\urpfrnufr\ +l'u\hn' gh$rnpfurpunh \QL $L I 500 1500 1

33200000 Zru\urpfrmnfr\ +hu\hn' gh$nr.nopulril Sr 1 500 3000 2

33200000 Zur\urplrnrnfr\ +ltu\hn' urin\ulr\1tu{ cz Qt I 500 3000 2

33200000 Zur\upfrmnfr\ lhu\hn' unlopuruglrfrh SL I 500 I 500 1

33200000 2ur\urplrnurlr\ +hu\tp' ghSuruqlr4bil $t 1 500 1500 1

33200000 Zur\ruplrnurfr\ +hulf hp' glrqpn$lopuurglrh Qr 1 500 I 500 1

33200000 2u\urplrnufr\ +Iru\tn' o$lopuruglrtt a2 SL 1500 3000 2

3321 1 130 funltuurhplrl.r urhurl 40 720000 '18000

33211240 Ilhrfiuurnfr4 Su\unp url.rtul 80 48000 600

33211310 fdpntlpnqprutnirhfr npn2rirutr phup hunlurpu-rbnt url-lu1 t00 320000 3200

33211r90 8n[r\1nb urhr.n]r-U 1 0rI1 $1u-i\nh l 200 r4400 12

33211200 8n[r\lnh utru]r-tr 10 dy $pr\nh t200 14000 12

33211220 Snflr\lnh urhurfr-'] I0 il1unr-qhp cz S1u\nlr 2500 3s000 't4

33211210 Snfr\1ntr urhrnfr-8 10 rlluntqhp CZ $1ur\nl: 2500 7500 J

33191310 Uhplrlhh \uqntpr rln2ir 7' qFruil 80 2400 '"r ?n

24311190 U4ruppnt \nhghtrupf\ Lh*F 20 10 05

24321440 prugurluurppnt \ntgthulpb\ tr-p 1 200 2400 2

33200000 Lhp\ Ilnilrutrn{u\f efilqut 7' tJ'-p 8000 8000 1

33200000 Na glrnpuru \q A 1000 250

3369r166 r.f|r2u{ur3p Ofthhg\nt qpuli 40 r0000 250

33r41179
Zunltupurbnr N2 /|rh4|r\urunpruifrb pqphplt

hullurpurbnrJ
hurur 400 400

1

33621641
trd2\ur\urh qnpbirpbhpfr hur\urpur\uhpfurl

uluururhurhhl rihqnq
dt-p 10000 80000 8

33621641 hur\rupur\tnhpfrrul hhrlnr\ 1.lr.ugn1 rilr2ng <4'I> CZ Ltr-n r0000 s0000 5

33621641
hur\upu-r\uhplrurl hhrlnr\ Slugnrl rlfr2ng' &hnphpp

ruluuruhuhht nt hurJtun
C2 Lh*F I 0000 100000 10

33 141 160 Ohlurpur&urlhrujfrb qhy 2 5 0il1 hurur 350 52500 150

33621641 'rlhphqfr4pnl n% 1{1 tr-n 700 56000 80

33671 138 Uqfrpm 96% tJr-p 1200 84000 70

3314 t7 trurilpu\ 100.0 7, hu:ur 250 7s000 300

33141133 tr$rur 5*10 nlutnhpfl cz hruur 100 70000 700

33141133 trfLrn 7*14 hu-rur 120 84000 700

33 141 1 16 tr|rLrn qfruluh 3*10 UL huln 400 16000 40

33 141 r 16 tr|rhur q[qut 3*20 cz hu-nn 400 16000 40

33t41129 'Ifrtfu\ ilfuhtluq 7t hurr,n 25 25000 1 000



33 l4i 1 14 Ourhqfr$ pd2\ut\uh CZ il 100 I 2000 120

33 141 100
Uh\ uhqrurllur oqutuqnpbrlnq qfrhh\nlnqpu\ult

utr \ur2nphp gLln$urhruq ur ur
C2 tr-fotp 4000 240000

60

33141112 Uqh4ruLlr uuhuurqhU lurr.f hurlurpdhp 7' hurr.n t0 10000 1 000

3314',t142 Lhptup\fr1 uruhrln{ 2.0q huru 20 6000 300

33141142 Lhpup\|ry uruh4n{ 5 0q cz hruur 22 4400 200

33141144 Uuh4 08840 nlnu i0 60000 6000

32351230 hUQ durqullth 63.30 cz huur 630 189000 300

32351230 huq Llhlupn4 55dil GZ huln 100 42000 420

3369r170
ftkburqhh druqul{hhl-rhp}r S}r\urud' rurlpur\fr; 15,0 7' ttu.n 10000 40000 4

33691170 Ilhhurqhtr duqunlhtrbhpf tphulf1 1 5,0 huru 10000 40000 4

33111140 Sgmnpngpur$|rurlfr durqullhh \ull hurtturpdhp GZ hurur 35000 420000 12

J2351230 flhtrurqth du:qu{hh 13x 18 urnt+ 8000 24000

32351230 IlhLrnqhh druqu{hh 1 8*24 nm{r 14000 84000

32351230 Ilhburqhh dtuqutlhL 24*30 C2 uim$ 22000 44000 z

323s1230 flhhrnqhh durqurlhL 30*40 cz urnr$ 3 5000 24s000 7

33141143 U\urpfr$lrluunp uutpfrl CZ hutn l0 200000 20000

385 I 1 340 Ourb\urqru\fr 1B/18 cz huln 5 100000
20000

33790000 trurdu\ 250il1 hutn I 100 2200 2

33141 131 Smphfr\hur' r.f u\uLntl hunn 800 24000 30

33111240 tllrqhur\u:J]r burlpur\u1 I oooil\1 CZ hurur 12 12000 1 000

33 1 1 1230 nf qhur\ur; |r bul pur\ur1 200rI\1 CZ hrur,n 10 20000 2000

33 1 1 1230 nf qhur\ru; ]r burlpur\ru1 1 0il\1 cz hruur 10 20000 2000

33200000 tlfrqhur 0.1il1 hurur 150 7s00 50

33200000 clliqhn 0.02il1 7' hur.n 150 I s000 100

33200000 tlfrqhrn 2,5 rI1 qluruurluruh ururhd.fr\n{ 7' hurur 80 4800 60

33 1913 l0 ShLurpfr$nqurlfr $np&urLnp Llr2n{ hurtn 120 36000 300

33 1913 10 iDnp&urhnp Z-12 CZ hurur 110 22000 200

33631260 3n4fr lnrbmlp 5 r.nnllnu SL 70 3400 20

33161220 Cqururhl C2 huru l) 45000 3000

38431490 Ahupffr puu (Uu1ul1ur) cz huru.r 450 54000 120

33rr1220 Qnpltuhfr \utlhptu c2 hruui 3500 10500 J

33790000 enrl |uuntrfrl
7' htuur t10 2200 20

33790000 tlnqulnnp a2 hurr.n 5000 5000 r+
1

33790000 2rurfrlr2 \n1pu 25ti1 CZ huln r000 4000 4

33790000 9npu \nhrudh 500rI1 lilr2hpml CZ hruur 2000 6000 ?

39261 000
gphtrur\urh qlrurnqphhp h qpuruhtr3ur\urlfh
llnrratn

trcuz huq.4purl
300.0 300.0

33760000
Stnnhuur\urh,uurtrhfrqfrttrfr\ It f.l*gph
rllr2ngLhp

trcuz hurq.4purd
990.0 990.0

50311240
Zunfur\urpqlurg ]rh,rqunndhLurhulnlurtr
uunpurdnnnlilhhn h odurL4ut hnr-phn

trcuz huq.4purtl
900.0 900.0

331 QOo00 trd2\urllurh qnpblrptrhp, pntduurppunlnpnulht p treuz hurq.4purd
e'

500.0 500.0

I

31 700000
h1t\urpururhluhlr\ur,nur4]rnuhlubf\u h
t hhournurrhh uurnprurl nnnulhtn

trcu2 hurq.4puril
500.0 500.0

I

UGIUUSUL€Lbl
39261 000 Squrqpntp;nth UL hurq.lprurf 2,200.0 2,200.0 I

fivpqo Purppp|2hhplr frgpunlnptlulr trcu2 hurq.4punl 200.0 200.0 I

50311240

Zultur\urpqfr2lrtplr, hulfur\ruPq:url hh
uurppunlnpnr-rlhhpfr, rnqfr2hhp]r L odtuhrlur\
uurppurrlnpnulhhplr rltpuhnpnqrfruh trcu2 hurq.4puril 300 0 300.0 I



50421 300

tlttlnqhtr urlurnnpn2]r2 uurpprurlnpilurh

4nqur2ulfrur\urtr, nthrnqth \urpfrhhuft
urtlutrlr\ru\urh urh&hurqpurrlnprftuh,
urh&trur\ruqrlfr urtrhruurur\urh 4nqur2ulfrur\urLr
hu\nqnr-p1nr-h

trcuz hurq.4punf

t44.0 144.0

I

33000000
trnr-duurppunlnpntilhh pfr rlhpurhnpnqrlurh trcuz hruq.4pull 300 0 300.0

I

48440000
Zur2{urqurhur\urh r}ruruuurldql}hph
hurnnurnrlurh, llurprlurh h \urqrftIurlt

trcuz hurq.rlpull 200.0 200.0

ouftu3nr.r€nhLLbr
6521 1 1 00 Fhru\urh qurqlr rlururu\rupurpmrl trcuz huq.4purd 6,000.0 6,000.0 I

6531 0000 h th\urpurLhh FSbull b rf ururur\rupurpnul FCUz hrnq.4purtl 8,000.0 8,000.0 I

64211230 S]rpurlurb hhnurlunuru\urq trcuz hurq.4purtl 520.0 520.0 I

92711100 I'trurtpLhururlhlt \*"f h urpul-tur1pnu.l trcuz rurq.4punl r80.0 180.0 I

34141320 Uqlurhtnurgrfurtr trcue rurq.4pull I 15.0 115.0 I

65'1 1 1 100 lurlhlnt 2plr rlururur\urpurpnul trcuz huq.4purtl 320.0 320.0 I

661 71 1 00 Orunrgrlurh h lunphpqururr[ntplutr trcuz hurq.qpull 250 0 2s0.0 I

661 00000 trurh\ur1 ]rtr uquruurp\rlurh trcuz hurq.4pud 15.0 15.0 1

64216140 tlunlntl]r purd urhnp4urqpriurh trcuz hurq.4puril 150.0 150.0
I

71 250000 Uurppunlnpnulht plr lrurlrurqpilurh trcu2 hurq.4puril 700 0 700.0 I

51 1 31 700
trd2\ur\urtr pulJrntrtrtpfr rlntpu phprlurh h
nrhrurorftuh

FCUZ hurq.4puril
300.0 300 0

I

(

gtrnr-tftrhpfrhrurlur\rupqnrl' 

-P-f 
9.'tlurqlruh


